
767,08  x  10   =  91,03  x  100   =  

50,881  x  100   =  34,225  x  100   =  

897,716  x  1000   =  527,058  x  100   =  

78,99  x  1000   =  41,65  x  10   =  

97,79  x  1000   =  232,026  x  10000   =  

502,673  x  100   =  277,158  x  1000   =  

99,831  x  10000   =  275,05  x  100   =  

40,07  x  100   =  880,899  x  100   =  

74,46  x  1000   =  228,26  x  10   =  

400  x  10   =  194,81  x  10   =  

55,819  x  1000   =  26,739  x  10   =  

457,722  x  1000   =  9,83  x  100   =  

217,91  x  100   =  597,34  x  10   =  

992,04  x  10   =  68,78  x  10000   =  

3,93  x  100   =  65,48  x  10000   =  

80,159  x  100   =  411,929  x  10   =  

284,551  x  10   =  74,86  x  100   =  

80,37  x  1000   =  37,267  x  10   =  

709,768  x  100   =  88,585  x  1000   =  

18,721  x  10   =  94,722  x  100   =  



767,08  x  10   =  7670,8 91,03  x  100   =  9103

50,881  x  100   =  5088,1 34,225  x  100   =  3422,5

897,716  x  1000   =  897716 527,058  x  100   =  52705,8

78,99  x  1000   =  78990 41,65  x  10   =  416,5

97,79  x  1000   =  97790 232,026  x  10000   =  2320260

502,673  x  100   =  50267,3 277,158  x  1000   =  277158

99,831  x  10000   =  998310 275,05  x  100   =  27505

40,07  x  100   =  4007 880,899  x  100   =  88089,9

74,46  x  1000   =  74460 228,26  x  10   =  2282,6

400  x  10   =  4000 194,81  x  10   =  1948,1

55,819  x  1000   =  55819 26,739  x  10   =  267,39

457,722  x  1000   =  457722 9,83  x  100   =  983

217,91  x  100   =  21791 597,34  x  10   =  5973,4

992,04  x  10   =  9920,4 68,78  x  10000   =  687800

3,93  x  100   =  393 65,48  x  10000   =  654800

80,159  x  100   =  8015,9 411,929  x  10   =  4119,29

284,551  x  10   =  2845,51 74,86  x  100   =  7486

80,37  x  1000   =  80370 37,267  x  10   =  372,67

709,768  x  100   =  70976,8 88,585  x  1000   =  88585

18,721  x  10   =  187,21 94,722  x  100   =  9472,2


